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9.2 Graphing Linear Inequalities

Ex. 1 Graphing Linear Inequalities Given the following equation, graph the linear
inequality on the graph.

2x+ 2y < -2
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Step 1: Put inequality into slope-intercept form
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Step 2; Graph the inequality & Step 3: Determine solution set S
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Ex. 2 Graphing Linear Inequalities Given the following equation, graph the linear
inequality on the graph.
' x—2y >0
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Step 2: Graph the inequality & Step 3: Determine solution set S 3
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Ex. 3 Sketch the solution set for the system
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Step 1: Put inequalities into slope-intercept form
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Step Z: Graph the inequality & Step 3: Determ:e solution set
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